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1km? = 100 ha = 10000 a = 1000000 m?
(1) 24km? = 2400 ha = 240000 a = 24000000 m?
(2) 86 ha = 8600 a = 860000 m? = 0.86 km?
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0.25t = 250 kg = 250000 g
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(1) 9ha = 90000 m?
(2) 5km? = 5000000 m?
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(1) 74m? + 500 m? 4 0.046 m? + 360 m? = 934.046 m?
(2) 0.85a + 240 a + 5.2a = 246.05( a)
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4.5t = 4500 kg ©]2& 4500 + 18 = 250 (AAH) dYt}.
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7h= 42 x 20 + 2 = 420( m?)

=50 x 33 + 2 = 825(m?)

(AT BE O] Ho])= 400 + 825 = 1245( m?)
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(FF= 9] Zol)= (150 + 2) — 35 = 40(m)
(Z3F9] glo])= 40 x 35 = 1400( m?)
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A2old 1a & AYAHEF : 3.2ha = 320a,
5.6t = 5600kg = 5600 = 320 = 17.5( kg)
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7920 + 450 = 17.6(kg)
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